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Geant4 Implementation

. Standalone application in Geant4

Geometry One plane setup 0.5 mm Silicon sensor
0.1 mm Copper kapton 0.1 mm epoxy glue
1.7 mm PCB
1.2 mm chips

O TB2022 DESY setup as indicated by Adrian
1.5 mm Carbon fiber

a 15 layers of tungsten:
>'ay & 2.8 mm /[ 4.2 mm Tungsten plate

= 7 first layers with 2.8mm thickness
= 8 last layers with 4.2mm thickness

Q CALICE Sensor:
beam direction

)

= 15 sensors with 18 cm x 18 cm x 0.5 mm

» homogeneous structure , NOT separated in pads

O Distance between layers: 15 mm

Beam setup
. e- with various energies
. punctual source

. 5000 events
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Beam setup

CALICE performance: energy deposition

. primary particle: e-

. energies from 3 GeV to 12.5 GeV with 0.5 GeV step

. 5000 events processed for each primary energy
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Edep on all planes for E0 =3GeV
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CALICE performance: energy deposition
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CALICE performance: energy deposition

Edep on all planes for E0 =[3,12.5] GeV
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CALICE performance: energy deposition at 9 GeV

Edep on all planes for E0 =9 GeV

histo

200 Entries 5000

Mean 128.2
Std Dev 11.13

entries

180

160

140

120

100

80

60

40

20

IIIIIIIIIIIIIIIIIIIIIII 0I\I|III‘I\\‘\HIIHHLJ—H-I:||I\I‘\\\|I\Inl\

0 20 40 60 8 100 120 140 160 _ 180
E,ep [MeV]



entries

CALICE performance: average energy deposition

Beam setup

primary particle: e-

energies from 3 GeV to 12.5 GeV with 0.5 GeV step

5000 events processed for each primary energy

Edep on all planes for E0 =9 GeV
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CALICE performance: energy resolution

Beam setup

primary particle: e-
energies from 3 GeV to 12.5 GeV with 0.5 GeV step

5000 events processed for each primary energy
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